OLVIUJRVIZD 3RIVNL Z SA\ZDQLX -XQIRUyZ Oi (DI
" CELFD
- RQNXUHQFID *JHZF]al P GRZRIQ\ o]
= \QINL )LQD:

7RS 7LPHV 3RIDQG 2SHQ .25& $JDID - 252 %HUQJ &+1

7RS 7LPHV 3RIDQG 62.2a2:-6.% "IDQD -8%,% *LZLFH

3XQNN ),1$

3R]\FID 5RN XU &]DbV 3NW

)IQDE $
62.232:6.% "IDQD -89(1,$ %Di\VIRN
-$1,&=(. -RDQQD 62 81,$ 2GZICFLP
6=&=(3%$1,. -RDQQD z2"1,. gHP
6,5,*1$12 /XD -25"$1 _UDNyZ
8/$72:-6.%$ $IFID 62 81,$ 2GZICFLP
= 2-&,(&+2 - 6.%$ *DEUHID 62 81,$ 2GZICFLP
3,(7521,(& -DIDUJ\QD 3,A7.%$ &KRU]yZ
7$&=%a$ $IFID 3ICIQDVIND $48%$ %\GJIRV]F]

)LQD: %
*2/,66.$ .DIDUJ\QD 73 2/,03,-&=<. $HNVDQGlyZ ayG
"a8*2aé&.$ -DURIQD 81,% %XVNR =Glyi
5T7$/6.$ ODUNQD *  9%HIDQ\ = DUV]DZD
-$63(5(. .DIDUI\QD - $57% 3R]QDE
"<$.2:6.$00DD 25.$ &IHFKDQyZ
3$:-a2:-6.%0DUD 3ICIQDVIND $48%$ %\GJRV]F]
2.%- 20z 0.6 026 _DIRZIFH
*/$1(57 "DUD 1T6(0.$ 6IDUIRIDUG *GDEVNL

6SIDVK OHHI ODQDJHU %XLG SHJIVIHUHG IR 3RIVK 6ZLPPLQJ )HGHUDILRQ 6IIURQD



